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it pute the eler(?ents a43 and ayy of the matrix:
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0 IfA = {0 0 1 {and Iis the identity matrix of order 3, show that A2 = pl +qA + rA2,
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[fwis a complex cube root of unity, show that
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. 14=) 3 _;]md[ (1) (13 , then prove that A% — A + 21 =0.

9 ] find x. [CBSE 2012] L

B 1t < _:13 ; and ] = [é ;):l then find A so that A* =5A + Al
Y. 14 J-_»;’ ; ,show that A2 -5A4+7I; =0. [CBSE 2003, 2007}
T4 __f 8] show that A2 -24 + 31 =0
. Show’that the matrix A = [12 ; ]saﬁSflES the equation A 3_4A%+A=0. [CBSE2005]
& Show that the matrix 4 =[ 13 7‘? ]is a root of the equation A2 -124-1=0.

[CBSE 2004]
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